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Note : The paper contains three sections : A, B and C. 
Instructions are given in each section along with marks. 

SECTION - A 
Answer any two questions from this section. 	2x12=24 
1. What is an economy ? Explain an economy as a 

system of circular flow. 

2. Discuss the concept of money wage and real 
wage. How is it possible for trade unions to secure 
an increase in the wage rate through collective 
bargaining ? 

3. What do you understand by Production 
Possibility Curve ? Illustrate it with the help of a 
suitable example. What are its assumptions ? 

4. What is budget line ? Explain the equilibrium of 
a consumer with the help of indifference curve 
analysis. 
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SECTION - B 

Answer any two questions from this section. 	2x8=16 

5. Describe returns to scale. Explain the causes of 
increasing return. 

6. What is long run cost curve ? Why is short run 
Average cost curve 'U' - shaped ? 

7. Explain a firm's short period Equilibrium under 
perfect competition. 

8. 	What is oligopoly ? Explain its characteristics. 

SECTION - C 

Answer any one questions from this section. 

9. Explain following concepts : 
	

5, 5 
(a) Cardinal and ordinal approach to utility 

analysis. 
(b) Extension of demand and increase (shift) in 

demand. 

10. Distinguish between the following : 	 5, 5 
(a) Price elasticity of demand and income 

elasticity of demand. 
(b) Nominal and Real Rates of interest. 
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